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Answers (5.02 - FC Equations)

1 FN
*FN points towards the
center of the circular path
Y | Fc=FN-Fg
Fg
2 Top of Circle: Bottom of Circle:
Ft
Ft
Fg
*Both Ft and Fg points towards the Fg

center of the circular path
P *Ft points towards the center

of the object's circular path

*Ftx points towards the center
Ft of the object's circular path
Fty
X Fc = Ftx
Ftx
Y Fty = Fg
Fg

4 Equator: The person is moving in a circle around the Earth’s perimeter

FN
o *Fg points towards the center
A of the object's circular path
Y | Fc= Fg-FN

North Pole: The person is not moving in a circle. They are standing and spinning in place,
meaning they have no radius and no circumference to move around - this is a rotational
motion and not circular. Fn = Fg in this case, and there is no Fc equation.




